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Ques 1- 8 pens and 14 pencils cost as much as 12 pens and 5 pencils. 

The ratio of the cost of one pen to the cost of one pencil is:

8 पेन और 14 पेंसिल की कीमत, 12 पेन और 5 पेंसिल के बराबर ह।ै एक पेन की

कीमत और एक पेंसिल की कीमत का अनपुात क्या ह?ै

a) 9 : 5

b) 9 : 4

c) 7 : 5

d) 8 : 5
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Ques 2- A sum of money becomes Rs. 12,600 after 6 years and Rs. 

21,000 after 9 years on compound interest. The sum invested is:

एक रासि चक्रवसृि ब्याज पर 6 वर्ष बाद 12,600 रुपये और 9 वर्ष बाद 21,000 
रुपये हो जाती ह।ै सनवेि की गई रासि ज्ञात कीसजये।

a) Rs. 4,500

b) Rs. 4,600

c) Rs. 4,536

d) Rs. 4,436
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Ques 3- An article is marked at Rs. 700. If it is sold at a discount of 35%, 

then the selling price become 
5

3
times of its cost price. What is its cost 

price (in Rs.)?

एक वस्तु का अंसकत मलू्य 700 रुपये ह।ै यसद इिे 35% की छूट पर बेचा जाता ह,ै 

तो सवक्रय मलू्य उिके क्रय मलू्य का
5

3
गनुा हो जाता ह।ै इिका क्रय मलू्य (रुपये में) 

सकतना ह?ै

a) 420

b) 455

c) 291

d) 273
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Ques 4- A and B can do a job in 6 days. If A does the job alone he takes 

10 days.What will be the time by B required to complete the job alone?

A और B एक काम को 6 सदनों में कर िकते हैं। यसद A अकेले कायष करता है तो उिे

10 सदन लगते हैं। B को अकेले कायष को परूा करने में सकतना िमय लगेगा?

a) 12

b) 10

c) 15

d) None
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Ques 5- A student got 160 marks and required 50 more marks to secure 

the minimum 35% marks to pass. Find the maximum marks.

एक सवद्यार्थी ने 160 अंक प्राप्त सकए और उत्तीर्ष होने के सलए न्यनूतम 35% अंक
प्राप्त करने के सलए 50 और अंकों की आवश्यकता ह।ै असिकतम अंक ज्ञात कीसजए।

a) 600

b) 750

c) 800

d) 500
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Ques 6- The curved surface area and Total surface area of a cylinder are 

616 cm2 and 924 cm2 respectively. Then find the volume of cylinder.

बेलन का वक्र पषृ्ठीय क्षेत्रफल और िंपरू्ष पषृ्ठीय के्षत्रफल क्रमि: 616 िेमी2 और

924 िेमी2 हैं। तब बेलन का आयतन ज्ञात कीसजए।

a) 1496 cm3

b) 2156 cm3

c) 1782 cm3

d) 2475 cm3
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Ques 7- The list price of a fan is Rs. 4,500 and it is sold at a 15% 

discount. If its final selling price, after allowing a second discount 

percentage on the list price, is Rs. 3,213, then the second discount 

percentage is:

एक पंखे की िचूी मलू्य 4,500 रुपये है और इिे 15% छूट पर बेचा जाता ह।ै यसद
इिकी अंसतम सवक्रय मलू्य, िचूी मलू्य पर दिूरी छूट प्रसतित की अनमुसत दनेे के बाद

3,213 रुपये ह,ै तो दिूरा छूट प्रसतित ह:ै

a) 15%

b) 16%

c) 12%

d) 18%
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Ques 8- The height of the cone is twice its radius. Find the ratio of the 

product of the radius and the curved surface area of the cone to the 

volume of the cone.

िंकु की ऊंचाई इिकी सत्रज्या िे दोगनुी ह।ै सत्रज्या और िंकु के वक्र पषृ्ठीय क्षेत्रफल के

गरु्नफल का िंकु के आयतन िे अनपुात ज्ञात कीसजए।

a) 3√5 ∶ 2

b) 3√6 ∶ 2

c) 3 ∶ 2

d) √5 ∶ 2
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Ques 9- In a hotel, ration is available for 148 persons for 51 days. If after 

9 days 37 persons left the hotel, then for how many days the remaining 

ration will last?

एक होटल में, 148 व्यसियों के सलए 51 सदन का रािन उपलब्ि ह।ै यसद 9 सदनों के
बाद 37 व्यसि होटल छोड़ दतेे हैं, तो िेर् रािन सकतने सदनों तक चलेगा?

a) 56

b) 48

c) 52

d) 65
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Ques 10- Garib Rath Express leaves Delhi for Mumbai at 14:30 which has a speed 

of 60 km / h and Rajdhani Express leaves it at 16:30 at a speed of 80 km / h. How 

far will Rajdhani Express take Garib Rath Express?

गरीब रर्थ एक्िप्रेि 14:30 बजे सदल्ली िे मुंबई के सलए रवाना होती है सजिकी गसत 60 सकमी / 
घटंा है और राजिानी एक्िप्रेि इिे 16:30 पर 80 सकमी / घटंा की गसत िे छोड़ती ह।ै राजिानी

एक्िप्रेि गरीब रर्थ एक्िप्रेि को सकतनी दरूी पर पकडे़गी?

a) 560 km

b) 480 km

c) 360 km

d) 600 km
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Ques 11- Ramu had to select a list of numbers between 1 and 1000 

(including both), which are divisible by both 5 and 8. How many such 

numbers are there?

रामू को 1 और 1000 के बीच (दोनों को समलाकर) िंख्याओ ं की िचूी चनुनी र्थी, जो
5 और 8 दोनों िे सवभाज्य हैं। ऐिी सकतनी िंख्याएँ हैं?

a) 25

b) 33

c) 63

d) 41



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 12- How many diagonals are there in a polygon of 16 sides.

16 भजुाओ ं वाले बहुभजु में सकतने सवकर्ष होते हैं?

a) 52

b) 106

c) 104

d) 72
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Ques 13- If the angle of depression of the top and bottom of a building from a 

1200 m high radio tower is 30° and 60° respectively, find the height of the 

building

यसद एक 1200 मीटर ऊँचे रेसियो टॉवर िे एक भवन के िीर्ष और तल का अवनमन कोर् क्रमिः

30° और 60° ह,ै तो भवन की ऊँचाई ज्ञात कीसजए।

a) 300

b) 600

c) 400

d) 800
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Ques 14- A man  can row 24 km/h in still water. He takes thrice as long to row up 

as to row down the river. Find the rate of the stream.

एक आदमी िांत जल में 24 सकमी/घटंा की गसत िे नाव चला िकता ह।ै उिे िारा के प्रसतकूल

नाव चलाने में िारा के अनकूुल नाव चलाने िे तीन गनुा असिक िमय लगता ह।ै िारा की दर ज्ञात

कीसजए।

a) 6 km/hr

b) 18 km/hr

c) 15 km/hr

d) 12 km/hr
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Ques 15- If tanθ = cot (3θ + 10°), then the value of θ equals:

यसद tanθ = cot (3θ + 10°), तो θ का मान बराबर ह:ै

a) 16°

b) 4°

c) 30°

d) 20°
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